A4VSO % 7| T & 4 5k + TAIZHOU
A4VSO Variable Displacement Piston Pump

ETERNALHYDRAULIC

#1 i® Overview

AFRE—MHAXMAOEETER, EHAAXEBRBERIZITH,
RABWMEN, MEEHTX35MPa,

This product is an axial piston pump in swash plate design for hydrostatic
drives in open circuit operation. With through-shaft construction, its rated
pressure is up to 35MPa.

EaErs TEEx oM
EE@ R Swing Angle Control e

Return Bound Bodies.  Indicator Piston

G153+

Case

4 /
Shaft
% pE o oEW ) BE S as | Eeg I3
Case Swash Slipper Piston Cylinder Valve Plate Back Cover
Plate Block
oA Features

XEWHREELETFRERHNBERNAE, AP THES ¥ The capacity of the pump is in proportion to its rotating speed
and displacement; the stepless adjustment of the

> 4= 'y 2 ‘u - .
BRAMRTHENTRET; displacement can be materialized by regulating the swivel
XIEMEN, TREBASE; angle of its swash plate.
XL B AR EEV; % With through-shaft structure, able to form combination
XIKEER, HERSTHEARNGE; le“",‘t',’; raint ot hani
$ Position constraint return mechanism;
P3 S ERES; . ’
Eaﬁfﬂﬁ}%ﬁ*ﬁ 2 % Spherical flow distribution, the piston is inclined around the
XERETE; shaft;
XMRAEIBNMEE; #¢Equipped with swivel angle indicator of swash plate;
XERE TIEE N TT.35MPa; % Stepless variable displacement;
sie 428 4 I Rz B ) 43 i Excellent suction performance;P
- % Rated working pressure of 35MPa;
AR ; . 9P
L ¢ Fast control response;
KR ¥Low noise;
XMRMIhR/EEL; ¥Long lifespan;
XEERKIZIT; »* Excellent power/weight ratio
*EHMERBHEREE A HModular design;
NRBMETH; ¥ The drive shaft is able to bear the axial and radial load;

»* Optional installation position;

XA AHFRE TIE, BEITSRAMBER.

2|t can operate with HF fluid to lower the operating parameter.



B S #5i2 Type Code
E AAVS O 125 DR /

1-T{E4} & Operating Medium

# #1358 Mineral oil ( 7S No Code )
HFA. HFB. HFCi#&Eihi&k Hydraulic fluid E

2-2E#E K Machinery Type
| HEtEzE, $48X, AIETE Axial piston, swash plate design, variable A4V

3-#5i& Speed
38 1% Normol speed s
S %51% High Speed

4-1=1T#E 5 Operational Mode
| FF=XEIE Open circuit | o |

5-#1&Size
| /MERHEE Nominal displacement mLr |4o | 71 |125|180|200|250|280|355| |

6-#= #4144 Control devices

&A1=l Pressure control DR oo |0 |0 0|00 |e DR
==l Flow control FR e|lo|o0o | 0o (0|0 0|0 FR
JEA1ii 23 # Pressure and flow control DFR o oo 0o 0o 0 0|0 DFR
18I Z 4= %] Power control with hyperbolic curve LR2 o|lo|o | 0o (0|0 0|0 LR2
TEIh I 2 [E H135 4 Constant power remote pressure control LR2G o o|o (0o (0|0 0|0 LR2G
1EThZR[E /1#= %) Constant power pressure control LR2D oo |0 0o|0o|0o|0|e LR2D
FZhiz#) Manual control MA e(o|o(o|0o o000 MA
& E R &% Hydraulic flow control ojlo|e|e|e|e|e|e E02
7-%7%l Series
e |® | —|—|—-|—-|-|- 10
-|-|e|e|o|e 0@ 30
8-1EkE 7 1H ( MHi%ZE ) Rotating Direction ( View on Shaft End )
IR At$t Clockwise R
¥ Bt$t Counterclockwise
9-Z%f Seals
THEBEINBR, #ximRE: Shaft seal FKM
FARBFKM
10-44{# Shaft End
42 4R{H Keyed shaft DIN6885
Tk %518 Splined shaft DIN5480 z

& %1% A0 Chart shows: @=mJLft#k Available, O=7E# & HIn preparation, —=7cNot available



11-Z2 3% ~Mounting Flange

ISO 47LHole | 8 |
12,13-if1 O Y5 Ports Type
I%if A Suction port S, EFAiM A Pressure port B, #Bhi O Auxiliary port Bi 13
ﬂ&iEiEl Suction port S, JEAiMmO Pressure port B, o5
%~ JEHi# 0 The second pressure port B
14 —i@HIXZh Through Drive
40 | 71 [125]180|200|250(300 |355
i@ %K 0 Without through drive oo (o000 0@ NOO
HEME, NREERSTIT oo =T TNIT
With through drive, mounting dimensions are as follows
ﬁnﬁfﬁgiﬁi}dg#ﬁ\f T;r)r?ojrﬁ[llr:lg: dimensions are as follows A A A B Bl Bl
‘= Te 52 AIEESZ R MR
Flange Splined shaft To mount pump
ISO125, 47 | W32x2x30x14x9g -A4VS040 o/ o|o (0|0 |0 0|0 31
1ISO140, 47l | W40x2x30x18x9g 0S-A4VSO71 — | oe|®o|o| o (@ |®@| ®| 33
ISO160, 47 | W50x2x30x24x9g 0S-A4VS0O125 -|-|e|le|e®e|e®e |0 e 34
ISO160, 47L | W50x2x30x24x9g 0S-A4VS0180/200 - || |o® |0 | @ 34
1ISO224, 47L | W60x2x30x28x9g 0S-A4VS0250/280 -{=-f{-1-|1—-]1®|®|@® 35
1ISO224, 47 | W70x3x30x22x9g 0OS-A4VS0355 s ll=Il=|=1=1=|=]O 77
ISO80, 27l 3/4in11T16/32DP S#f OS-A10VS018 e|®@|O|O|OfO|O|O]| B2
ISO100, 2fL | 7/8in13T16/32DP S#f OS-A10VS0O28 oo (o 0|0 0|0 o B3
ISO100, 2%l | 1in15T16/32DP SkH OS-A10VS045 o/ o (o (0|0 0 0|0 B4
ISO125, 2FL | 11/4in14T12/24DP S#f [ OS-A10VS071/31 - |e(loe|loe|o|e| 0@ B5
ISO125, 2FL | 11/2in17T12/24DP Sk OS-A10VS0100/31 -|—-|e|e|e (e |0 @ B6
ISO180, 47L | 13/4in13T8/16DP Sk# OS-A10VS0O140 - |—-[-]®e|e®e|e®e|® @ B7
ISO160, 4FL | 11/4in14T12/24DP Sil | OS-A10VSO71/32 —-|lofololo]Jo]oOo|oO B8
ISO180, 47l | 11/2in17T12/24DP Sl | OS-A10VSO100/32 —-[-]Jolo|lo|o]J]o|of B9
SAE82, 27l | 3/4in11T16/32DP Skh 0OS-A10VSO18 e|le|O|O0|O|O|O]|O| 52
SAE101, 27l | 7/8in13T16/32DP Sk 0OS-A10V0O28 o (o (oo |00 o 0 68
SAE101, 2%l | 1in15T16/32DP Si# OS-A10V045 o (o (oo | 0|0 0 0 04
SAE127, 2% | 11/4in14T12/24DP St | OS-A10VO71 — | oe|o|o| 0o |®|®| @[ 07
SAE127, 27l | 11/2in17T12/24DP Sl | OS-A10V0100 - |-|e|e®e|e e 0|@®]| 24
SAE152, 47 | 1 3/4in13T8/16DP Sk 0OS-A10VO140 - |=-[—-|®|®|@®|®|e® 17
1 Zh B ki HBEELAhIE Bt dge
Vﬂ\jlﬁﬁﬁgumgiﬁgﬁﬁ’srﬁff ?vﬁﬂhgdt chupTgrlﬁlosed with blind flange. ROl I L I I I B I

FARBESREK, BIMEHERER—F, MAHAR, BRNEZARBANER,

MEITMASR; AERNESHE-—ERNES+E_ERNES,
Two pumps can be connectec in series by their heac and end, namely integrated to be a combination pump by the means
of through-shaft, and the second pump of the series combination is called the subordinate pump.

In case of placing an order, the combination pump model equals to the model of the first pump + the model of the second.
HEREISRA lllustrat on of combination pump model:CR-A4VSO125DR/30R-PPB13U34+CR-A4VS0125DR/30R-PPB13N00



#HAS¥ Technical Data

1, I{EEAEERange of operating pressure—i# 111l Side of inlet

WAOSKHIES (f3tESN ) Pressure at suction port S ( absolute pressure )
B e P e L 0.8bar
%Eﬂgj] D, e 30bar

smax

ATERHMETERRIER, BAQSHBARR—IREESN XIMRREHOAEDBRFHEEEROEESHE:

1.25 - . .
S o TNy |
L \ \\ 116 —
| ;1 . 114 §
s \1.2 o
cl= 10 ‘ ! - 10 R
) H
#w 09 0.8 %
055 0.6 0.7 0.8 0.9 1.0

B OED AEBRSHMNENSIEEEDNRNEIKE,
Inlet pressure is static input pressure or minimum dynamic value of boost pressure.

2, T{EEAERE Range of operating pressure——H [l Side of outlet
BAWEF (4834 E F1) Pressure at port B (absolute pressure)

ﬁﬁfﬁj;pn ............................................................................ 350 bar
ugﬁﬁjjpmx ............................................................................ 400 bar
%{&Ej]pmm ............................................................................ 15 bar

3. #Eh A mFlowing Direction
S—B

4. E{KittithEH Case Drain Pressure

BRXRIFFEMMEN(BIEN ) BRTFROEE, LE: }L%’: g
The allowed maximum case drain pressure (absolute B8- 9o
i ) SR BHARS
pressure) depends on the rotating speed of the pump. ? 4 \: I
Please see the figure. \\\\
5
Q) 34
BRE@&MmEN(EIED): 3
The maximum case drain pressure (absolute pressure): A
B 21
PLmax 4 bar 321\
#®
1R
XRIEME, ERETRTHRETREN, ! O 1000 20100 30.00 4600
This is approximate value. This value needs to be decreased EiEn[min-')] —e

under some operating conditions.



5. S#3% (BB ) The Parameter List (theoretical values)

Max.radial force

H#& Size 40 71 125 | 180 | 200 | 250 | 280 | 355
#EDisplacement Vomax | mUF | 40 71 125 | 180 | 200 | 250 | 280 | 355

V= Vg maxif nomax | T/min | 2600 | 2200 | 1800 | 1800 | 1800 | 1500 | 1500 | 1500
RAFEHE" Max. Speed

Vi< Vg maxhif ¥min | 3200 | 2700 | 2200 | 2100 | 2100 | 1800 | 1800 | 1700

N = N maclf quomax | L/min | 104 156 | 225 | 324 | 360 | 375 | 420 | 533
E Flow

n = 1500 r/minfd L/min | 60 107 | 186 | 270 | 420 | 375 | 504 | 533
HZE Power N =N omaxft Pomax | KW 61 91 131 | 189 | 210 219 | 245 | 311
Alp=gED e n = 1500 r/min B kW 35 62 | 109 | 158 | 245 | 219 | 204 | 311
H145 Torque Ap=350barBt | Tme | Nm | 223 305 | 696 | 1002 | 1114 | 1391 | 1560 | 1976
Vo= Vomex A p=100 bar fit T Nm 64 113 | 199 | 286 | 318 398 | 445 | 564
?ﬁ’fﬂ#gﬁtﬁﬁiﬁm <t J | kgm? | 0.0049 | 0.0121 | 0.03 | 0.055 | 0.055 | 0.0959 |0.0959 | 0.19
FE{RZEFVolume of case L 2 25 5 4 4 10 10 8
E= 8 Weight kg 39 53 88 | 102 | 102 184 | 184 | 207
Wzhi b 5 $a 2k f,lizfamxﬁﬂff’ome N 600 800 | 1000 | 1400 | 1400 | 1800 | 1800 | 2000
Permissibleload of = jc."‘ =
the drive shaft B N 1000 | 1200 | 1600 | 2000 | 2000 | 2000 | 2000 | 2200

1) Vo= VoraBf FIE{E & AT WM O SEYEE AE N A X E S barkBY1ER,

U‘\Uﬁﬁﬁfi‘%ﬂﬂ y Vg = ngaxﬁﬁmﬁﬁy‘]%ﬁ*&ﬁﬁo

1) Once Vg=Vgmax, the value is applicable forthe conditionin which inlet pressure at Suction Port S equalsto 1 bar, the
absolute pressure; when the inlet pressure ps increases or the displacement decreases, the rotating speed will

increase; once Vg < Vgmax, the value amounts to the limit of the rotating speed.

& A 4 %k Bearing flushing

M FA4VSORHEHETER, £ I IRBMA
A R GRE K TIERNIEE hEE,
—RABENIERRE (EFHim) , HTE
BIRAEB I REENTIERETEE;
—HRATYHTEERREEMEEXEE
TERRKAERERREMN(IR3IHHE L),

HEEE AR, DETRERBIHAMHEEE
B HE R

For the axial piston variable pump A4VSO at the
following operating conditions bearing flushing is
required for a safe, continuons operation.
——Applications with special fluids (non mineral
oils)due to limited lubricity and narrow operating
temperature range.

——~Operation at critical conditions of temperature and
viscosity with mineral oil and vertical mounting ( drive
shaft facing upwards).

Flushingis recommended in order to ensure lubrication
of the front bearing and shaft seal.

BRI E
“U” #1T. Mkl R, HIRNT

it OEF1p s HEE R,

BEFLTEREE=MHEO

it i i — R At i T HEH o
X FI0RFILEER, HFAUOEITHKMIER,

UL A BT FR R ST s it

TE

RRETEIR).

Flushing is carried out via port "U" located in the front
bearing and leaves the pump together with the case
drain flow.
Regarding series 30 when using external bearing

flushing the throttle screw at port U mustbe turnedin
to the end stop.

FMARHIREA T HR IR E A (L/min):
Depending on pump size, the following flushing
flows are recommended:

#M1g Size

40

71

125

180/200

250/280

355

= Flow

3

4

5

7

10

15

ATREIAENRE, £ UOMSEASTEHEO < B
PRlREL2bar,

These recommended flushing flows will cause a pressure

drop of approx. 2bar (series 10) and 3 bar (series 30 )

between the entrance to port U and the pump case




%514 #h £ Characteristic curves
HINIhZ 57 & Drive power and flow

%40

;
E

150 } : ]
i

100 “
B | 421 Pocrws [ 1]
i) 4___,__ _"’ gl

50 : =
T | L o P ot
PN e e s s e

0 100

TA{EES plbar] —

n=2600 rpm ———

#fg125

Llg
200 300 350

75

= 50

Tlo5

n=1500 rpm — —

WEq, [L/min] —e=

? 300 150
= 1 £
E =
I 200 Q. 100
&
I
100 ! 50
/f'; |
7 Ca O I D
. o o R
0 o X el o o e e e i 0
0 100 200 300 350
T A plbar] =
n=1800 rpm ——— n=1500 rpm — —
500 260
()/
400 74 200
L | a1/ A
300 i < 180
.\ )P-:l.rrrax _471—
AT L
(/ "3 ! -
A
200 7 I 100
-
; ’]
100 L 50
‘fd" P:.-. 1800
— 1
0 0
0 100 200 300 350
TiEE A plbarl e
n=1500 rpm n=1000 rpm — —

—-

AT EPKW]

—-

i AThEEPIKW]

—-

T A B EPIKW]

MAET71
* 150 150
g -
=
£ T g C I
5 100 > 100
& Py ms ‘/,‘ i
= B [ -~
50 ST 50
- ” T qu zare: | |
7N
V= IETI Sl
0 100 200 300 350
T{ERE A plbarl e
n=2200 rpm n=1500 rpm — —
#i%180
* 400 7 200
g /
[ g, /|
= 5= 4
E 300 Z LA 190
"=|‘- - ‘f__ 4'_-
2
o I LT 1A
I 200 P max F 100
7= [ ]
A
rli', .
100 A - 50
_7/’ TPl
7] | 3
- _ 4 e gy
0 &=t ot i 0
0 100 200 300 350
T H#EH plbarl e
n=1800rpm ___ n=1500rpm __ __
15355 IR 350
F
% 600 300
€ B - /4
E 500 ' ¥ 250
= 7
> __Q\ .
1 i 171
= 400 A o 374 200
: NI
ol e o Y y |
===l
;)-/
300 7 il 150
4 /
/ ‘(
¥ i
200 v Wi i 100
"
Sy
I |
100 7 Pavae [ ] 50
,// ’fi\ |t
’:( — =TT
0 == 0
o 100 200 300 350

T {E% 11 plbar] —w

n=1500 rpm n=1000 rpm __ __

—»

i ATHEEPIKW

—

i ATHEPIKWI



SMERST #k40,

10R51 ( ErpRpryEEHRRE DR )

Dimension Size 40, Series 10 ( Example: pressure control )

| ~ 147 =
T L (260)
AS10 %8 x 56 =
o DIN 6885
I \ 10 —3
- | ™
\ —-— N
15 _ 56, ju .
er—_ _@ 053]
il T ) 4
5 K (1l Ko
a _22 '-~\..\0_ X 2
5 58 8 T\ T e
| I e
i i, B £|
o3 |
s .
S ML
B \ N
. S
\ 4@__j;7/ N
. S
™,
Y
s .|
Y ImeE e
* GeNRERE
s X
e | J
W32x2x30x14x9g B
INS480 | eseitigmEERED)
\ :
gk
N
o
—t
(=]
Q
! ~_B(B:13125%!, AREER)
SAE3/4" & R
BT 45 B
N ESREERE

#0133 Ports type 13

B &80 pressure port

Bi #Bhi O auxiliary port

258! Ports type 25

B E1i# 0 pressure port

B1 % ZJ£713# 0 second pressure port
HfthitiO Other ports

S it A suction port

Ki,Kz ikt O flushing port

T ittt O drain port

Mg,Ms il 2 measuring port

R(L) §Fi#O filing port + #ES M bleed port
u kil O flushing port

Y

10

SAE3/4” (FEZ% 3 high pressure series)
M22 x 1.5 #Rdepth14 (3 plugged )

SAE3/4” (REZR3FI high pressure series)
SAE3/4” (BIE#% high pressure series) (11 closed)

SAE11/2” (tr#E %3 standard series)
M22 x 1.5 #Rdepth14 ( ¥&plugged)
M22 x 1.5 ¥ depth14 ( 3#plugged )
M14 x 1.5 & depth12 ( #&plugged )
M22x1.5

M14 x 1.5 & depth12 ( # plugged )



SMERST Miig71, 1085 (B RBIBEFVARE DS )

Dimension Size 71, Series 10 ( Example: pressure control )

Tt 18
AS12x8x68
~| DIN 6885
Bl T
\I.\
1.5, .\ 68 -
I Ve
=3
< 28
8 = 70
1
8
80
v IbiE e R
* /%#Iﬂ'ﬂ TENE
itnt B .
W40 x 2% 30 x 18x 9g m_@_m_ /2B EEEED)
DIN 54801, | T
\ + e 2e}
b & y | - g M+ .
N Z_I_, | i SAE 2"l AL 1 R 5
RN . | 88 A M12; %20
—_— j - |»,
(=] S = wh 4
it b .
e
o '?EJ J i o 2 Y1a)
2 |45 M @ 5
= o : i = > 2 xr-
U S ] e fe' Tr%ﬁ&l%_j-.m%ﬁm
U o umgd SAET &mF 5
J tj AEN o EEsHEE _
il S ASHEENE  MmizxE20,
55 186 27 AL _—
v 2 [
#0132 Ports type 13
B JE 71380 pressure port SAE1” (FEZ% high pressure series)
B BhidH auxiliary port M27 x 2 $Rdepth16 (¥ plugged )
iH 0252 Ports type 25
B FE71i 0 pressure port SAE1” (FEZ3! high pressure series)
B 8 ZJE /13t 0 second pressure port SAE1” (BEZ3! high pressure series) (31 closed)
HAthil O Other ports
S M3 1 suction port SAE2” (kR %% standard series)
Ki,Ka  iiseit O flushing port M27 x 2 iRdepth16 ( #plugged )
T ittt 3 A drain port M27 x 2 iR depth16 ( #plugged )
Me,Ms & s measuring port M14 x 1.5 & depth12 ( #plugged )
R(L) E#O filing port + #ES H bleed port M27 x 2
u g O flushing port M14 x 1.5 ;& depth12 ( #5 plugged )

11



SMERT #5125, 30R5 ( ErhRHIREHNMBRENES )

Dimension Size 125, Series 30 ( Example: pressure control )

22

Fit
AS14x9=80
DIN 6885

191

121

v IRBtEEEE

88.9

~S
SAE 2 1/2' R E N R

e fo B
W50 x 2 x 30 x 24 x 9g [ A sHER2
DIN 5480 _ L EEERO)
! \
®
W
fe‘n\
S

\ L
| olg
-. / E bad % M12; F17
i I = | 508!
A
0l 0
Jilug = "
RIL M ETTI| 1 /!
‘/.- :. 4 h‘l — ’ _
gl & - B(B:3258, EREER
) t ¥\ oTs/ SAETIASERS

\ |
N

| 23] Tllaa kS REEGE M14:19 _—
L 208 ] v 9
356 J

#0133 Ports type 13
B E## A pressure port SAE11/4” (BEZ %I high pressure series)
B1 HHiBhit O auxiliary port M33x2 Rdepth18 (% plugged)
MO25% Ports type 25
B £ 0 pressure port SAE11/4” (BEZF! high pressure series)
B1 % —EAil second pressure port SAE1 1/4” (BEZJ! high pressure series) (38 closed )
Hthil O Other ports
S %;3f A suction port SAE2 1/2” (#x# %% standard series)
K1,Kz kit O flushing port M33 x 2 Rdepth18 ( #plugged)
T ittt 3 drain port M33 x 2 iR depth18 ( ##&plugged )
Ms,Ms iz s measuring port M14 x 1.5 i depth12 ( #plugged )
R(L) FiO filing port + HE O bleed port M33 x 2
u kil A flushing port M14 x 1.5 i depth12 ( # plugged )
Mi,M2 BTN A measuring port control device M14 x 1.5 ( # plugged )

12



SMEERST #14%180/200, 305! ( ErhRHIREHIPIAREDIEH )

Dimension Size 180/200, Series 30 ( Example: pressure control )

22
AS14 x 9= B0
DIN $885 ©
&> 155 80 _ -
— | ‘-\‘.
St
SEiETE
- .36 ©
~ =
\ MB
B8
10 125
sz |L 2318 J
92 1 375
" WAt £ £ 7
EGWERE
'
ffe 7 By B -
W50 x 2 x 30 x 24 x 9g ¢ 25 E R D) = in
DIN 548k, P S| ™ N
\ 5 = SAE 3 &R Z 5]
I B/ M16. F24
5 1
I~ 1 T
o EE; —11
e of
i 5|
I
~ BB x1268,
SAE1 1/8°%

i[A133 Ports type 13

B FE 7138 0 pressure port

B+ Bt O auxiliary port

iA25%! Ports type 25

B FE il O pressure port

B1 % Z £ /13t A second pressure port
HAthi O Other ports

S R it A suction port

Ki, Kz iisEid O flushing port

T ittt 361 O drain port

Me,Ms & s measuring port

R(L) EMA filling port + HES A bleed port
U] ks O flushing port

Mi,M2  ZEEHHAIAIR 2 measuring port control device

13

SAE1 1/4” (&IE%3%! high pressure series)
M33 x 2 iRdepth18 (¥ plugged)

SAE11/4” (FE%3%! high pressure series)
SAE1 1/4” (FIE%%!] high pressure series) (3] closed )

SAE3” (Fr#ERFI standard series)
M33 x 2 iRdepth18 ( #plugged )
M33x 2 iR depth18 ( #Eplugged )
M14 x 1.5 & depth12 ( #plugged )
M33 x 2

M14 x 1.5 i depth12 ( #& plugged )
M14 x 1.5 ( #& plugged )



SMERST #48250/280, 30R5! ( ErhRHIRZHIHARE DR )

Dimension Size 250/280, Series 30 ( Example: pressure control )

30
| g
oo AS18x 11 x 1007
o DIN 6885 I
\ 100

leo

105 || 435

Yo IRETH SRR

* ASARELE
fEst /
WB0 x 2 % 30 x 28 x 9g o i f B .
DIN 5480, /s iRE IR EERD)
\ I
\ I <t ;_:H & 3
§. '\.\ ' = @ -~ M16; 7§24
g = 61.9
r S
| ) Yi5]
T ~42] 4 i 38 ,
! 70 B =
ol <
{ - IJ | P‘E E 3 -3
- 80 _ SAE! 112 B R31
X b
A3 A8 SRt 4 ahE MIE. %25
fr 1308

248 17 17 * B R

V1

#0133 Ports type 13

B [E 13t O pressure port

B1 $5Bhi O auxiliary port

258! Ports type 25

B FEF1ih O pressure port

B1 % — £ 77310 second pressure port
Hthil O Other ports

S %t O suction port

K1,K2 kit O flushing port

T ttti#1 O drain port

Me,Ms #lli& A5 measuring port

R(L) FiMO filing port + HE A bleed port
u kil A flushing port

Mi,M2 FEHHBIMLR A measuring port control device

14

SAE1 1/2” (BIEZ3%! high pressure series)
M42 x 2 #Rdepth20 (& plugged)

SAE1 1/2” (REZ%] high pressure series)

265

148

~5 i
SAE 3"t 71 R A

~ BB 258, EREER

SAE1 1/2” (BIEZ%] high pressure series) (1 closed)

SAE3” ($r# &3l standard series)
M42 x 2 #Rdepth20 ( 3&plugged )
M42 x 2 iR depth20 ( #plugged )
M14x 1.5 & depth12 ( $&plugged )
M42 x 2

M14x 1.5 & depth12 ( 3% plugged )
M18 x 1.5 ( #& plugged )



SMERST #4355, 30R35 ( EHRRHIREHNAREDIEH )

Dimension Size 355, Series 30 ( Example: pressure control )

(424)
p 30
| AS20%12%100
| DIN 6885
4
45 "'-111_10. b
S e
o'(‘\l -
o 142 |
[Te]
8,
10
105
393 |
115 | 464 i
Nttt % h et
b FSRZEUE
* Xt
e e &
W70 % 2 %30 % 22 x 9g ./ RIRML SRR L) 1 '
DIN 5480 . N o
| 8 9 s
5 E l SAE 4Rt E N 25
2 SR =
-|la $ | S mis w2
e 77.8
T a| €]
[ ® ™ 3
<+ T
i T =
= - EHER
8 N0 e S . e e
1o T ahET M16: 525" |
40 \ESREHA S — T
208 17| | 17 + e

i[A133 Ports type 13

B FE 7138 0 pressure port

B+ Bt O auxiliary port

#0258 Ports type 25

B FE il O pressure port

B1 % Z £ /13t A second pressure port
HAthi O Other ports

S R it A suction port

Ki, Kz iisEid O flushing port

T ittt 361 O drain port

Me,Ms & s measuring port

R(L) EMA filling port + HES A bleed port
U] ks O flushing port

¥

Mi,Me  ZEEHHIETIR & measuring port control device

15

SAE11/2” (&E%3%! high pressure series)
M42 x 2 Rdepth20 (¥ plugged)

SAE11/2” (FE%3%! high pressure series)
SAE1 1/2” (FIE%%! high pressure series) (3] closed )

SAE4” (Fr#ERFI standard series)
M42 x 2 Rdepth20 ( #plugged )
M42 x 2 iR depth20 ( #Eplugged )
M14 x 1.5 & depth12 ( #plugged )
M42 x 2

M18 x 1.5 i depth12 ( #& plugged )
M18 x 1.5 ( #& plugged )



$2%J3 8 Control Devices

1, [EH#=4%IDR Pressure Control DR Q

EHEFRBEOGHENEENEEE, Ak, RRAHATIMAENRE,

& ESEE20~350bar, Flik: HiZEFRENIZEFHIDRG

Pressure control keeps the pressure constant within the control range of the pump at the
pump outlet. There fore, the pump only delivers as much fluid as required by the actuators.
Setting range 20 ~ 350bar.

Optional: with remote pressure control DRG

P

BB s o
,,,,,
' s ‘
4 it
4 ,,J‘
S Ms KiKz:T R(L) S Ms KiKz T R(L)
DR EI2ESchematic DRG [HIZESchematic

#a Ports
XESEAHMA, ATIZEEHESH Pilot pressure port, for remote pressure control M 14 x 1.5 12

2. #EI=HIFR Flow Control FR

RNREBVLIBES HRAEFTFEAERRRIERE, Q

ik HiZRENEFIFRG,

FR1REFRG1EX Xk O MK iR LA,

Pump flow may be requlated by means of a differential pressure at an orifice and maintains a constant

regulating flow in a hydraulic system. P
Optional: with remote pressure control FRG

For model FR1 or FRG1 the orifice closed in the X port

KEE\E#%%&%I*J FRIBIX T FL# 246 TEREHRKEEN FRG1EX Ty LA FAl
A | 7

=
KiKzT R(L)
K: K2 T R(L)
FR [Ri2ESchematic FRG #I2ESchematic

O Ports
Xi £FEAHMO, BAFHEREF Pilot pressure port, for flow control M14x 1.5 #12
Xe 5£ZEAHMO, AFIEREHIEH Pilot pressure port, for remote pressurecontrol M14x1.5 12

B &t Diagram components

1. OS-A4VSOH [ R (i EHE B R T #144)Axial piston pump (with hydraulic positioning device)
2. JEh#54I#® Pressure control valve

3.ifi 23241 Flow controly valve

16



$2%J3 B Control Devices

3. EAS5iHEEFIDFR Pressure and Flow Control DFR

ERMBUHIRT, RERAHHREEE, EHEGHRETRESES

DFR1ZNHIXi O A 5 7L en

This control maintains a constant flow from the pump even under varying oprerating
conditions. Overriding this control is a mechanically adjustable pressure control.

Optional: For model DFR1 the orifice closed in the X port

TEEEHEEERN DFR1ZVR 7 FL 4 £
t— Tx
__—-+__
! @—Lf e
3N
DF i
2‘ N ‘
B BMs iy
= S T T
TR R RS B ?
s
\ A 1 T JI
=
r.
S Ms Ki Ko T R(L)

DFR 52 ESchematic

O Ports

X %SEAMO, BFHEEHIPilot pressure port, forflow control M14 x 1.5%12

fi5T{E Diagram components

1. AAVSORISHMAEES ( HEHE=ITTHHM ) Axial piston pump (with hydraulic positioning device ) 2.

JE ¥4I Pressure control valve
3. EI=% 1 Flow control valve

4. ThZE$=%ILR2 Pressure Control LR2

WHL RS, SERNEEREN, RERNENHEIFEORER.

Wik: #EHZHLR2D, HIREENEHLR2G

The hyperbolic power control maintains a constant preset drive power at the

same input speed.

Optional: with pressure control LR2D, with remote pressure control LR2G

5. ThZ#=4$ILR3 Pressure Control Lr3

W LLIhFizH], HERNBERER, RIFROEHIEAFTTHIREE,

HIhFepid e & AERHTIE T
Tk: HEAEHLRID, HREEHEHLRIG

The hyperbolic power control maintains a constant preset drive power at the
same input speed. The power characteristics can be adjusted remotely.
Optional: with pressure control LR3D, with remote pressure control LR3G

17




#2413 & Control Devices

Mi K1 Kz TR(L) M2

LR2 [HIEESchematic
1A Ports

M Ki Kz TR(L) M2

LR3 &2 ESchematic

Rxv #2558 SMEBEN i O External control oil return port M18x1.5, 12

XwrESEAMO, FAFIZFRINZRIES Pilot pressure port, for rem ote power control

7.4 Diagram components

1.A4VSOBUH R ZE R (R HER AT H14)
2. ThE#z 4l g Power control valve

---D #H5[E #1424 With Pressure Control

EhiEwRETFhEREH, B AigEEHEZ TRHZRINE
BRI T, HEBEHESR EWNEEENR, Rit AEHE
HIEN, URBERZENENEERR,

The pressure control overrides the power control, i.e. below
the set pressure control level the unlt follwes the power
control function. As soon as the pump output pressure
reaches the pressure control level, the pump turns into the
pressure control model and delivers only the amount of fluid
as requlred to maintain this pressure.

@

(o2]
I

@

s

- k& % I
U S Ms M1 Ki K2 T R{L) M:

LR2D /& Schematic

A Ports

M14x1.5F12

Axial piston pump (with hydraulic positioning device)

-G HIZEE A= % With Remote Pressure Control

ENRIRERZEZHMOX0, ATFEEES. HXBREEND
(=R R LA EEAMENZERE LHEE ) B, Rif
ANEh#EHEN, RBEFZENRENRERR.

Pressure rellef valve is connected to port Xo, for remote
control. As soon asthe pump output pressure(relief valve
setting plus pressure differential overthe pressure control
valve spool) reaches the pressure control level, the pump
turns into the pressure control model and delivers only the
amount of fluid as required to maintain this pressure.

-
bid
.

Mi Ki K2 T R(L) M2

LR2G [RIEESchematic

Lag:._?.%r

U s Ms

Xo £ FEAHMO, ATFIZFEEHEH Pilot pressure port, for remot e pressure control M14x 1.5, ®12

EH T Diagram components

1. A4VSO HEHFER(HREHEIATH14) Axial piston pum p (with hydraulic positioning device)

2. ThE#4| 1 Power control valve
3. [E 142l i Pressure control valve

4. EARHE ( AEEEHRESEEZR ) Pressure reliefl valve (noti in scope of supply)

18



$£4I3k 8 Control Devices

6. RERBIEHEO2
BB FHAREABRBOLGIE, FITHEHERET,

r

R A e Eenses | (95 A
RN v
3 T . L_“ 4 Vzmax
" s ' ?..-Sp

P

L ’ 777777777 .

: _\J
;
1.

F
t::(

e

L

1

BT Diagram components
1.A4VSORBHEIHER 1.A4VSO type axial piston pump

(BN HEE RS HAA)
2.Le i 2.Proportional valve
S EERE 3. Position sensor
4 33 ER 4.Transition board

7. E#H1IEHIEM Motor Control EM

FBHBITHRHERAT . HFARENFES, EBTRENRALFXFEMAR[HTHRHEFRAET.
Stepless adjustment of displacement via an electric motor. Various intermediate displacement values can be selected
with a programmed sequence control, by means of built on limit switches and an optional potentiometer for feedback signal.

§| ? I\;ﬂ:-, A
[ 3 | 2 i
g
J r"“'rzq =@ Voo
Foli
= )i 1
e = ] e TR
UusmMmMs / Ki K2 T R(L)
4

wn|n

EM JRIEESchematic

max

Bt Diagram components

1.A4VSOMHEER ( HEHMHER AT 4 ) Axial piston pu imp (with mechanical positioning device)
2. B#l Motor

3. BRLFF % Limit switch

4. F8{iI 3§ Potentiometer

19



184%h38Zh Through Drive

AAVSORYH AT IR ATIRALE IR, FIIRAEIEHIRZN RN 52~3TT

BRIMEFBRHRBRESATRE=L (ERENRH=E) .

“BISHRIRY o

A4VSO axial piston pump can be equipped with a through drive, as shown in the type code on page 2-3 We
recommend that no more than three pumps be coupled together(main pump and following pump a total of three).

RFHBNEELE 5@ IREIEELE Permissible input torque and through drive torque ( B4 Unit: Nm )

H#% Size

| 40 | 71 | 125 |180/200P50/280| 355

14254 Splined Shaft

FRIBAMAFELE Maximum input torque of the main pump Twotmax | 446 | 790 | 1392 | 2004 | 2782 | 3952
P o ] Toimax | 223 | 395 | 696 | 1002 | 1391 | 1976
X RIFHEMIXENEELE Permissible through drive torque Too | 223 | 395 | 696 | 1002 | 1391 | 1976
BRIt 4 F HOERMIR TS AE P Taimax | 223 | 395 | 696 | 1002 | 1391 | 1976
g 5 issible th h drive t
* ermissible fhrough drive forque Tosrm | 223 | 395 | 696 | 1002 | 1391 | 1976
2 5h{h Keyed shaft

FRIFZAIANFESE Maximum input torque of the main pump Twotmax | 380 | 700 | 1392 | 1400 | 2300 | 3557
s Toimax | 223 | 395 | 696 | 1002 | 1391 | 1976

AR RFHEMIRENEESE Permissible through drive torque
Tozmax | 157 | 305 | 696 | 398 | 909 | 1581
s _ Toimax | 157 | 305 | 696 | 398 | 909 | 1581

BRI A 1F KB IR EHFE4E Permissible through drive torque

Toemax | 223 | 395 | 696 | 1002 | 1391 | 1976

F4EHERZR Torque Distribution Pattern
4MEE XA Distribution pattern A

Trot Thot

To1 Ta2 To1

S B Distribution pattern B

Ta2

FRZEZZ EMIF AT Permissible mass moment of inertia referred to the mounting flange of the main pump

:ﬁj & Size 40 71 125 |180/200|250/280( 355
=
— w3 Tm 1800 | 2000 4200 9300
| l_ Tm10g 180 200 420 930
o | .-
m 39 53 88 102 184 207
11 I1 120 140 170 180 210 220
i2
Tm—1FFAZ4ENm Tm—Perm. mass moment of inertia (Nm)
Tmiog—10gH03%E B A B9 1F FAZ 4ENm Tmiog—Perm. mass moment at dynam acceleration of 10g (Nm)
mi-ERREKg mi-The quality of the main pump (kg)
m2-\RREKg mz-The quality of the following pump (kg)

h-EREDEREEZMEEmm

li-The distance between barycenter of main pump and mounting flange (mm)

-AREBDEERLEEZMEEE MM l-The distance between barycenter of following pump and mounting flange of

1 1 main pump (mm)
LTEET=m1x 1 x102 + m2x l2x102 < Tm pump {

20




185038 3h Through Drive
#H& %R R~} Combination Pump Dimensions

MR A A4VSOBLH R ~F(mm) Dimensions of
following pumps A4VSO

A4VSO + A4VSO

5y

A4VSO_J§ |
(KE)

I

MIRAA10VSOE F A10VOHE!EY R F (mm) Dimensions of
following pumps A10VOand A10VSO

A4VSO + A10VSO

A10VSO|
(AR )

A1l

M aﬁ;ﬁ mp 40 | 71 | 125 |180/200[250/280| 355
40 | 554 | 582 | 635 | 659 | 719 | 748

7 - | 611 | 664 | 688 | 748 | 777

g A 125 - — | 724 | 748 | 808 | 837
ME 180 = - - | 768 | 828 | 857
ﬁ‘é 250 = N = - | 904 | 933
3 385 | - | - | = [ = [ - | o2
<180 | 288 | 316 | 369 | 393 | 453 | 482

Aol 050 | - - - - | 469 | 498
Maﬁﬁmp 40 | 71 | 125 |180/200|250/280| 355

18 | 458 | 486 | 564 | 588 | 648 | 677

28 | 496 | 497 | 575 | 599 | 659 | 688

) 45 | 514 | 540 | 593 | 617 | 677 | 706
A % AT = | 580 | 628 | 652 | 712 | 741
ﬁ‘é 100 | - - | 698 | 722 | 782 | 801
3 140 | - | - | = [ 744 | 791 | 820
Az 288 | 316 | 369 | 393 | 453 | 482

FZRA4VSO 1805 MFRA10VSO 1408% 10V0 1408L, R~TA2 45406,

The dimension A2 is 406 for that A4VSO180 pump couples

A10VSO 140 or A10VO0 140 pump

21




=% Mounting
& — i E 3K General requirements

RRMBEMR, EIBITH, REDTEHR DR, HETENREREHR,

ATHDRE, ANEREE (HhE. EARENSETHE ) SAERMTHShERES

W AR R EE PR A M, tiRmAEEEERAE, MBERSEAREN.

The mounting position is discretionary. Before trial running, the pump body must be filled with fluid and kept filled
while working.

To reduce noise, all connecting pipes (inlet pipe, pressure pipe and casting drain pipe) must be separated from
the tank by using flexible components. Avoid mounting check valve on the casting drain pipe. The leaked oil shall
return directly to the tank, butthe through-flow section shall not be reduced.

¢ EFHZRE (HiRM L) Vertical mounting (with shaft end upward)

EEELRRMN, HFHRMIEMEIETR, BRITHANER

In case of vertical mounting, we recommend flushing bearings as mentioned above to ensure the lubricatlon of
the front bearings.

L4 7EHFE M Mounting inside the tank

a) YHANRRETASERNEZAEEHESM, (RLY O, (T)

A% (S) AR FMLE),

When the minimum level inthe tankis as same as orlarger thanthe m 1N
height of the flange face of the pump, port R/L, T and S can be open _'T —E’ X
(see Figure 1)

b) INMANREARRTFRMNEZE, (RLY O. (T) ORUKEE | -
15 (S) OLAMEEER, WEFR, LERSES (REEH '

SN ) hETIREIMER sf o U

When the minimum level in the tankis lower than the flange face of

the pump, port R/L, T and possible port S must be connected with 1
pipes, as shownin Figure 2.This situation is same as what is

specified in Mounting outside of the Tank in this section.

LI FE M SMounting outside the tank
ERER, RAKEENEHEH DR, (T) DiEHAE, (RL) O,
TERERMNER: B3 (RL)Y OfFR, B (T) 8K, ASH

st
(RLY OE%E (WE2) , ‘—r-
Before mounting, the pump shall be placed horizontally and filled 1T el
with fluid. Port Tis connected with the tank and port R/L shall be
blocked. Filling while mounting: Filling from port R/L and venting by i E R(L)
port T and then blocking port R/L s s JU7
&4 FNSEHBOEH (BNEH) , BARMETO0.8bar A3 E hrer=800 @
o MREREMAETRERENRETFHAZ L. oD <
Conditions: The minimum inlet pressure ( absorption pressure ) of the ' f |
pump shall not be lower than 0.8 bar, the absolute pressure. If low
noise runningis required, the pump shall not be placed on the tank. &2

22



¢ Ep & Horizontally placed

BATY, (K1), (K2) H(RLY ABEFERME, ATEHESIATSMBEERE,
Place port T, K1, K2 or R/L higher than the highest position for filling /venting and for connecting with drain pipe.

2L TE M FE M Mounting inside the tank

a) HMANREAESREY LRESNES, timO (S) O
Fhr (RE3) o

When the minimum level in the tankis as same as or higher than
the upper end of the drain port and port S can be open (see Figure
3)

b) HimANF(R AL R LR, ttim O ATEEEHE (S)
AwmAEEERE (LEY) . ERWNEART (REEBRFAIED
rha) Wit

When the minimum level in the tank is lower than the upper end of
the pump, the drain port and possible port S must be connected
with pipes. ( See Figure 4 ) .This situation is same as what is
specified in a) Mounting outside of the Tank in this section.
TERIEITHIR il iR R R

Before trial running, the pump body must be filled with fluid

Z23E7EH A8 5 Mounting outside the tank

EIRBITR AR E R

Before trial running, the pump body must be filled with fluid.

a) M=EEMFEZ £, FREL,

For mounting on the tank, see Figure 4.

% ENREEOESD (RANES) , BAREFO0.8barkxtE
To MREREBRFISITN MBI EERETHEZ £
Conditions: The minimum inlet pressure (absorption pressure) of
the pump shall not be lower than 0.8 bar, the absolute pressure. If
low noise running is required, the pump shall not be placed on the
tank.

b) InZEEMMAZT, (RL) M (S) OAEEER, MESH
Ro

For mounting under the tank, port R/L and S must be connected
with pipes, as shown in Figure 5.

23

GED
il

== hmax=800

himin=200

e
, S

E5



	欧盛样本1
	页 1
	页 4
	页 5
	页 6
	页 7
	页 8
	页 9
	页 10
	页 11
	页 12
	页 13
	页 14
	页 15
	页 16
	页 17
	页 18
	页 19
	页 20
	页 21
	页 22
	页 23
	页 24
	页 25
	页 26
	页 102
	页 103
	页 104
	页 105

	欧盛样本2
	页 1
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7
	页 8
	页 9
	页 10
	页 11
	页 12
	页 13
	页 14
	页 15
	页 16
	页 17
	页 18
	页 19
	页 20
	页 21
	页 22
	页 23
	页 24
	页 25
	页 26
	页 27
	页 28
	页 29
	页 30
	页 31
	页 32
	页 33
	页 34
	页 35
	页 36
	页 37
	页 38
	页 39
	页 40
	页 41

	欧盛
	欧盛样本1
	页 27
	页 28
	页 29
	页 30
	页 31
	页 32
	页 34
	页 35
	页 36
	页 37
	页 38
	页 39
	页 40
	页 41
	页 42
	页 43
	页 44
	页 45
	页 46
	页 47
	页 48
	页 49
	页 50
	页 51
	页 52
	页 53
	页 54
	页 55
	页 56
	页 58
	页 59
	页 60
	页 61
	页 62
	页 63
	页 64
	页 65
	页 66
	页 67
	页 68
	页 69
	页 70
	页 71
	页 72
	页 73
	页 74
	页 75
	页 76
	页 77
	页 78
	页 79
	页 80
	页 81
	页 82
	页 83
	页 84
	页 85
	页 86
	页 87
	页 88
	页 89
	页 90
	页 91
	页 92
	页 94
	页 95
	页 96
	页 97
	页 98
	页 99
	页 100
	页 101



